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1 Deriveringsregler.

d

dx
(f(x) + g(x)) = f ′(x) + g′(x)

d

dx
(cf(x)) = cf ′(x)

d

dx
(f(x)g(x)) = f ′(x)g(x) + f(x)g′(x)

d

dx
(
f(x)

g(x)
) =

f ′(x)g(x)− f(x)g′(x)

(g(x))2

d

dx
(f(g(x))) = f ′(g(x))g′(x)
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2 Elementära derivator.

f(x) f’(x)

1

x
− 1

x2

√
x

1

2
√
x

xr rxr−1

ex ex

ax ax ln a (a > 0)

ln|x| 1

x

cos x − sin x

sin x cos x

tan x
1

cos2 x
=1 + tan2 x (x 6= π

2
+ nπ)

arcsin x
1√

1− x2
(− 1 < x < 1)

arctan x
1

1 + x2

2



3 Trigonometriska identiteter.

sin2 x+ cos2 x = 1

1

cos2 x
= 1 + tan2 x

sin (−x) = − sin x

cos (−x) = cos x

sin (x+ π) = − sin x

cos (x+ π) = − cos x

sin (
π

2
− x) = cos x

cos (
π

2
− x) = sin x

sin (x± y) = sin x cos y ± cos x sin y

cos (x± y) = cos x cos y ∓ sin x sin y

tan (x± y) =
tan x± tan y

1∓ tan x tan y

sin 2x = 2 sin x cos x

cos 2x = 2 cos2 x− 1 = 1− 2 sin2 x = cos2 x− sin2 x

sin2 x =
1− cos 2x

2

cos2 x =
1 + cos 2x

2
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sin x+ sin y = 2 sin
x+ y

2
cos

x− y
2

sin x− sin y = 2 cos
x+ y

2
sin

x− y
2

cos x+ cos y = 2 cos
x+ y

2
cos

x− y
2

cos x− cos y = −2 sin
x+ y

2
sin

x− y
2

4 Triangeltrigonometri.

α β

γ

ab

c

sin α

a
=

sin β

b
=

sin γ

c

a2 = b2 + c2 − 2bc cos α

A =
bc sin α

2
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5 Vektoridentiteter.

u · v = |u| |v| cos φ, φ vinkel mellan u och v
Om

u =

 u1
u2
u3

,v =

 v1
v2
v3

 (ON-bas), s̊a

u · v = u1v1 + u2v2 + u3v3

u× v =

 u2v3 − u3v2
u3v1 − u1v3
u1v2 − u2v1


|u|=
√
u · u =

√
u21 + u22 + u23

6 Integrationsregler.∫
(Af(x) +Bg(x)) dx = A

∫
f(x) dx+B

∫
g(x) dx

∫
f(g(x))g′(x) dx =

∫
f(t) dt, [t = g(x)]

∫
u(x)v(x) dx = U(x)v(x)−

∫
U(x)v′(x) dx (U primitiv funktion till u)
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7 Elementära integraler.∫
xa dx =

xa+1

a+ 1
+ C a 6= −1

∫
1

x
dx = ln |x|+ C

∫
ex dx = ex + C

∫
ax dx =

ax

ln a
+ C

∫
sin x dx = − cos x+ C

∫
cos x dx = sin x+ C

∫
tan x dx = − ln |cos x|+ C

∫
1

cos2 x
dx = tan x+ C

∫
1√

a2 − x2
dx = arc sin

x

a
+ C

∫
1

a2 + x2
dx =

1

a
arctan

x

a
+ C

∫
u′(x)

u(x)
dx = ln |u(x)|+ C
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